International Journal of Mathematical Archive-7(10), 2016, 162-166 MA Available online through www.ijma.info ISSN 2229 - 5046

INTUITIONISTIC FUZZY SUBFIELDS OF A FIELD WITH RESPECT TO (T, S)-NORM

B. ANANDH*1, R. GIRI²

¹Department of Mathematics, H. H. The Rajah's College, Pudukkottai, Tamil Nadu, India.

²Research Scholar, Department of R & D, Prist University, Thanjavur, Tamil Nadu, India.

(Received On: 19-07-16; Revised & Accepted On: 03-10-16)

ABSTRACT

In this paper, we made an attempt to study the algebraic nature of intuitionistic fuzzy subfield of a field with respect to (T,S)-norm.

Key Words: T-norm, S-norm, fuzzy subset, intuitionistic fuzzy subset, fuzzy subfield, intuitionistic fuzzy subfield of a field with respect to (T,S)-norm.

INTRODUCTION

Most of the problems in engineering, medical science, economics, environments, etc. have various uncertainties. To exceed these uncertainties, some kind of theories were given like theory of fuzzy sets, intuitionistic fuzzy sets and so on. Fuzzy set was introduction by L.A.Zadeh[24], several researchers explored on the generalization of the concept of fuzzy sets. Prof. K.T. Atanassov, a Bulgarian Engineer, introduced a new component which determines the degree of non-membership also in defining Intuitionistic fuzzy Subset (IFS) theory. In 1983, he came across A.Kauffmann's book 'Introduction to the theory of fuzzy subsets' Academic Press, New York, 1975, then he tried to introduce intuitionistic fuzzy subsets to study the properties of the new objects so defined. George Gargov named new sets as the 'Intuitionistic fuzzy subsets', as their fuzzification denies the law of the excluded middle, $A \cup A^c = X$. This has encouraged Prof. K.T.Atanassov to continue his work on intuitionistic fuzzy subsets. The notion of fuzzy subgroups, anti-fuzzy subgroups, fuzzy fields and fuzzy linear spaces was introduced by Biswas.R[8, 9]. In this paper, we introduce the some theorems in intuitionistic fuzzy subfield of a field with respect to (T,S)-norm.

1. PRELIMINARIES

- **1.1 Definition:** A T-norm is a binary operations T: $[0, 1] \times [0, 1] \rightarrow [0, 1]$ satisfying the following requirements;
 - (i) T(0, x) = 0, T(1, x) = x (boundary condition)
 - (ii) T(x, y) = T(y, x) (commutativity)
 - (iii) T(x, T(y, z)) = T(T(x,y), z) (associativity)
 - (iv) if $x \le y$ and $w \le z$, then $T(x, w) \le T(y, z)$ (monotonicity).
- **1.2 Definition:** A S-norm is a binary operation S: $[0, 1] \times [0, 1] \rightarrow [0, 1]$ satisfying the following requirements;
 - (i) 0 S x = x, 1 S x = 1 (boundary condition)
 - (ii) x S y = y S x (commutativity)
 - (iii) x S (y S z) = (x S y) S z (associativity)
 - (iv) if $x \le y$ and $w \le z$, then $x S w \le y S z$ (monotonicity).
- **1.3 Definition:** Let X be a non-empty set. A fuzzy subset A of X is a function $A: X \to [0, 1]$.
- **1.4 Definition:** Let $(F, +, \cdot)$ be a field. A fuzzy subset A of F is said to be a fuzzy subfield of F if the following conditions are satisfied:
 - (i) $A(x-y) \ge \min(A(x), A(y))$, for all x and y in F,
 - (ii) $A(xy) \ge \min(A(x), A(y))$, for all x and y in F,
 - (iii) $A(x^{-1}) \ge A(x)$, for all x in $F \{0\}$, where 0 is the additive identity element of F.

Corresponding Author: B. ANANDH*1

¹Department of Mathematics, H. H. The Rajah's College, Pudukkottai, Tamilnadu, India.

- **1.5 Definition:** An **intuitionistic fuzzy subset** (**IFS**) A of a set X is defined as an object of the form $A = \{\langle x, \mu_A(x), \nu_A(x) \rangle \mid x \in X\}$, where $\mu_A : X \to [0, 1]$ and $\nu_A : X \to [0, 1]$ define the degree of membership and the degree of non-membership of the element x in X respectively and for every x in X satisfying $0 \le \mu_A(x) + \nu_A(x) \le 1$.
- **1.6 Example:** Let $X = \{a, b, c\}$ be a set. Then $A = \{\langle a, 0.5, 0.3 \rangle, \langle b, 0.4, 0.1 \rangle, \langle c, 0.5, 0.4 \rangle\}$ is an intuitionistic fuzzy subset of X.
- **1.7 Definition:** Let $(F, +, \cdot)$ be a field. An intuitionistic fuzzy subset A of F is said to be an intuitionistic fuzzy subfield of a field F with respect to (T, S)-norm (intuitionistic (T, S)-fuzzy subfield of a field) of F if the following conditions are satisfied:
 - (i) $\mu_A(x+y) \ge T(\mu_A(x), \mu_A(y))$, for all x and y in F,
 - (ii) $\mu_A(-x) \ge \mu_A(x)$, for all x in F,
 - (iii) $\mu_A(xy) \ge T(\mu_A(x), \mu_A(y))$, for all x and y in F,
 - (iv) $\mu_A(x^{-1}) \ge \mu_A(x)$, for all $x \ne 0$ in F,
 - (v) $v_A(x+y) \le S(v_A(x), v_A(y))$, for all x and y in F,
 - (vi) $v_A(-x) \le v_A(x)$, for all x in F,
 - $(vii)\nu_A(xy) \le S(\nu_A(x), \nu_A(y))$, for all x and y in F,
 - (viii) $v_A(x^{-1}) \le v_A(x)$, for all $x \ne 0$ in F.

2-PROPERTIES OF INTUITIONISTIC (T, S)-FUZZY SUBFIELDS

2.1 Theorem: If A is an intuitionistic (T, S)-fuzzy subfield of a field (F, +,·), then $\mu_A(-x) = \mu_A(x)$, for all x in F and $\mu_A(x^{-1}) = \mu_A(x)$, for all $\not\equiv 0$ in F and $\nu_A(-x) = \nu_A(x)$, for all x in F and $\nu_A(x^{-1}) = \nu_A(x)$, for all $\not\equiv 0$ in F and $\mu_A(x) \le \mu_A(0)$, for all x in F and $\mu_A(x) \le \mu_A(0)$, for all x in F and $\mu_A(x) \le \nu_A(0)$, for all x in F and $\nu_A(x) \ge \nu_A(0)$, for all x in F

Proof: For x in F and 0, 1 are identity elements in F. Now, $μ_A(x) = μ_A(-(-x)) ≥ μ_A(-x) ≥ μ_A(x)$. Therefore, $μ_A(-x) = μ_A(x)$, for all x in F. And $μ_A(x) = μ_A((x^{-1})^{-1}) ≥ μ_A(x^{-1}) ≥ μ_A(x)$. Therefore, $μ_A(x^{-1}) = μ_A(x)$, for all $x \ne 0$ in F. And, $ν_A(x) = ν_A(-(-x)) ≤ ν_A(-x) ≤ ν_A(x)$. Therefore, $ν_A(-x) = ν_A(x)$, for all x in F. Also, $ν_A(x) = ν_A((x^{-1})^{-1}) ≤ ν_A(x^{-1}) ≤ ν_A(x)$. Therefore, $ν_A(x^{-1}) = ν_A(x)$, for all $x \ne 0$ in F. Now, $μ_A(0) = μ_A(x-x) ≥ T(μ_A(x), μ_A(-x)) = μ_A(x)$. Therefore, $μ_A(0) ≥ μ_A(x)$ for all x in F. And $μ_A(1) = μ_A(xx^{-1}) ≥ T(μ_A(x), μ_A(x^{-1})) = μ_A(x)$. Therefore, $μ_A(1) ≥ μ_A(x)$, for all $x \ne 0$ in F. And, $ν_A(0) = ν_A(x) ≤ S(ν_A(x), ν_A(-x)) = ν_A(x)$. Therefore, $ν_A(0) ≤ ν_A(x)$, for all x in F. And, $ν_A(1) = ν_A(xx^{-1}) ≤ S(ν_A(x), ν_A(x^{-1})) = ν_A(x)$. Therefore, $ν_A(1) ≤ ν_A(x)$, for all $x \ne 0$ in F.

2.2 Theorem: If A is an intuitionistic (T, S)-fuzzy subfield of a field (F, \cdot +), then (i) $\mu_A(x-y) = \mu_A(0)$ gives $\mu_A(x) = \mu_A(y)$, for all x and y in F, (ii) $\mu_A(xy^{-1}) = \mu_A(1)$ gives $\mu_A(x) = \mu_A(y)$, for all x and $y \neq 0$ in F, (iii) $\nu_A(x-y) = \nu_A(0)$ gives $\nu_A(x) = \nu_A(y)$, for all x and y in F and (iv) $\nu_A(xy^{-1}) = \nu_A(1)$ gives $\nu_A(x) = \nu_A(y)$, for all x and $\neq 0$ in F, where 0 and 1 are identity elements in F.

Proof: Let x and y in F and 0, 1 are identity elements in F. (i) Now, $μ_A(x) = μ_A(x - y + y) ≥ T(μ_A(x - y), μ_A(y)) = T(μ_A(0), μ_A(y)) = μ_A(y) = μ_A(x - (x - y)) ≥ T(μ_A(x - y), μ_A(x)) = T(μ_A(0), μ_A(x)) = μ_A(x).$ Therefore, $μ_A(x) = μ_A(y)$, for all x, y in F. (ii) Now, $μ_A(x) = μ_A(xy^{-1}y) ≥ T(μ_A(xy^{-1}), μ_A(y)) = T(μ_A(1), μ_A(y)) = μ_A(y) = μ_A((xy^{-1})^{-1}x) ≥ T(μ_A(xy^{-1}), μ_A(x)) = T(μ_A(1), μ_A(y)) = μ_A(y) = μ_A(xy^{-1}x) ≥ T(μ_A(xy^{-1}), μ_A(x)) = T(μ_A(1), μ_A(x)) = μ_A(x).$ Therefore, $μ_A(x) = μ_A(y)$, for all x and y ≠ 0 in F. (iii) And $ν_A(x) = ν_A(x - y + y) ≤ S(ν_A(x - y), ν_A(y)) = S(ν_A(0), ν_A(x)) = ν_A(x).$ Therefore, $ν_A(x) = ν_A(y)$, for all x and y in F. (iv) Also, $ν_A(x) = ν_A(xy^{-1}y) ≤ S(ν_A(xy^{-1}), ν_A(y)) = S(ν_A(1), ν_A(y)) = ν_A(y) = ν_A((xy^{-1})^{-1}x) ≤ S(ν_A(xy^{-1}), ν_A(x)) = S(ν_A(1), ν_A(x)) = ν_A(x).$ Therefore, $ν_A(x) = ν_A(y)$, for all x ≠ 0 and y ≠ 0 in F.

2.3 Theorem: If A is an intuitionistic (T, S)-fuzzy subfield of a field (F, +, ·), then $H = \{x \mid x \in F: \mu_A(x) = 1, \nu_A(x) = 0\}$ is either empty or a subfield of F.

Proof: If no element satisfies this condition, then H is empty. If x and y in H, then $\mu_A(x-y) \geq T(\mu_A(x), \ \mu_A(-y)) \geq T(\mu_A(x), \ \mu_A(y)) = T(1, 1) = 1$. Therefore, $\mu_A(x-y) = 1$, for all x and y in H. Also $\mu_A(xy^{-1}) \geq T(\mu_A(x), \ \mu_A(y^{-1})) \geq T(\mu_A(x), \ \mu_A(y)) = T(1, 1) = 1$. Therefore, $\mu_A(xy^{-1}) = 1$, for all x and y \neq e in H. And, $\nu_A(x-y) \leq S(\nu_A(x), \nu_A(-y)) \leq S(\nu_A(x), \nu_A(y)) = S(0, 0) = 0$. Therefore, $\nu_A(x-y) = 0$, for all x and y in H. And, $\nu_A(xy^{-1}) \leq S(\nu_A(x), \nu_A(y^{-1})) \leq S(\nu_A(x), \nu_A(y)) = S(0, 0) = 0$. Therefore, $\nu_A(xy^{-1}) = 0$, for all x and y \neq e in H. We get x-y, xy⁻¹ in H. Therefore, H is a subfield of F. Hence H is either empty or a subfield of F.

2.4 Theorem: If A is an intuitionistic (T, S)-fuzzy subfield of a field (F, +,·), then $H = \{ \langle x, \mu_A(x) \rangle : 0 < \mu_A(x) \le 1 \text{ and } \nu_A(x) = 0 \}$ is either empty or a T-fuzzy subfield of F.

Proof: It is trivial.

2.5 Theorem: If A is an intuitionistic (T, S)-fuzzy subfield of a field (F, +;) then $H = \{ \langle x, \mu_A(x) \rangle : 0 < \mu_A(x) \le 1 \}$ is either empty or a T-fuzzy subfield of F.

Proof: It is trivial.

2.6 Theorem: If A is an intuitionistic (T, S)-fuzzy subfield of a field (F, +,·), then $H = \{ \langle x, v_A(x) \rangle : 0 < v_A(x) \le 1 \}$ is either empty or an anti S-fuzzy subfield of F.

Proof: It is trivial.

2.7 Theorem: If A is an intuitionistic (T, S)-fuzzy subfield of a field (F, +, ·), then $H = \{x \in F: \mu_A(x) = \mu_A(e) = \mu_A(e^1)\}$ and $\nu_A(x) = \nu_A(e) = \nu_A(e^1)$ is either empty or a subfield of F, where e and e^1 are identity elements of F.

Proof: It is trivial.

2.8 Theorem: Let A be an intuitionistic (T, S)-fuzzy subfield of a field (F, +). The n (i) if $\mu_A(x-y) = 1$, then $\mu_A(x) = \mu_A(y)$, for all x and y in F and if $\mu_A(xy^{-1}) = 1$, then $\mu_A(x) = \mu_A(y)$, for all x and $y \neq e$ in F, (ii) if $\nu_A(x-y) = 0$, then $\nu_A(x) = \nu_A(y)$, for all x and $y \neq e$ in F, where e and e^{-1} are identity elements of F.

Proof: Let x and y in F. (i) Now, $\mu_A(x) = \mu_A(x-y+y) \ge T(\mu_A(x-y), \ \mu_A(y)) = T(1, \ \mu_A(y)) = \mu_A(y) = \mu_A(-y) = \mu_A(-x+x-y) \ge T(\mu_A(-x), \ \mu_A(x-y)) = T(\mu_A(-x), \ 1) = \mu_A(-x) = \mu_A(x)$. Therefore, $\mu_A(x) = \mu_A(y)$, for all x and y in F. And, $\mu_A(x) = \mu_A(xy^{-1}y) \ge T(\mu_A(xy^{-1}), \ \mu_A(y)) = T(1, \ \mu_A(y)) = \mu_A(y) = \mu_A(y^{-1}) = \mu_A(x^{-1}xy^{-1}) \ge T(\mu_A(x^{-1}), \ \mu_A(xy^{-1})) = T(\mu_A(x^{-1}), \ 1) = \mu_A(x^{-1}) = \mu_A(x)$. Therefore, $\mu_A(x) = \mu_A(y)$, for all $x \ne 0$ and $y \ne 0$ in F. (ii) Now, $\nu_A(x) = \nu_A(x-y+y) \le S(\nu_A(x-y), \ \nu_A(y)) = S(0, \nu_A(y)) = \nu_A(y) = \nu_A(-x+x-y) \le S(\nu_A(-x), \nu_A(x-y)) = S(\nu_A(-x), 0) = \nu_A(-x) = \nu_A(x)$. Therefore, $\nu_A(x) = \nu_A(y)$, for all x and y in $x \ne 0$. And, $y \ne 0$, $y \ne 0$, $y \ne 0$, $y \ne 0$. Therefore, $y \ne 0$, $y \ne$

2.9 Theorem: If A is an intuitionistic (T, S)-fuzzy subfield of a field (F, +), then (i) if $\mu_A(x-y) = 0$, then either $\mu_A(x) = 0$ or $\mu_A(y) = 0$, for all x and y in F and if $\mu_A(xy^{-1}) = 0$, then either $\mu_A(x) = 0$ or $\mu_A(y) = 0$, for all x and y \neq e in F, (ii) if $\nu_A(x-y) = 1$, then either $\nu_A(x) = 1$ or $\nu_A(y) = 1$, for all x and y \neq e in F, where e and e are identity elements of F.

Proof: Let x and y in F. (i) By the definition $\mu_A(x-y) \geq T(\mu_A(x), \ \mu_A(y))$ which implies that $0 \geq T(\mu_A(x), \ \mu_A(y))$. Therefore, either $\mu_A(x) = 0$ or $\mu_A(y) = 0$, for all x and y in F. And, by the definition $\mu_A(xy^{-1}) \geq T(\mu_A(x), \ \mu_A(y))$ which implies that $0 \geq T(\mu_A(x), \ \mu_A(y))$. Therefore, either $\mu_A(x) = 0$ or $\mu_A(y) = 0$, for all x and y \neq e in F. (ii) By the definition $\nu_A(x-y) \leq S(\nu_A(x), \nu_A(y))$ which implies that $1 \leq S(\nu_A(x), \nu_A(y))$. Therefore, either $\nu_A(x) = 1$ or $\nu_A(y) = 1$, for all x and y in F. And by the definition $\nu_A(xy^{-1}) \leq S(\nu_A(x), \ \nu_A(y))$ which implies that $1 \leq S(\nu_A(x), \ \nu_A(y))$. Therefore, either $\nu_A(x) = 1$ or $\nu_A(y) = 1$, for all x and y \neq e in F.

2.10 Theorem: Let $(F, +, \cdot)$ be a field. If A is an intuitionistic (T, S)-fuzzy subfield of F, then $\mu_A(x+y) = T(\mu_A(x), \mu_A(y))$, for all x and y in F and $\nu_A(x+y) = T(\mu_A(x), \mu_A(y))$, for all x and $y \neq 0$ in F and $\nu_A(x+y) = S(\nu_A(x), \nu_A(y))$, for all x and y in F and $\nu_A(x+y) = S(\nu_A(x), \nu_A(y))$, for all x and y in F and $\nu_A(x+y) = S(\nu_A(x), \nu_A(y))$, where 0 and 1 are identity elements of F.

Proof: Let x and y belongs to F. Assume that $μ_A(x) > μ_A(y)$ and $ν_A(x) < ν_A(y)$. Now, $μ_A(y) = μ_A(-x+x+y) ≥ T(μ_A(-x), μ_A(x+y)) ≥ T(μ_A(x), μ_A(x+y)) = μ_A(x+y) ≥ T(μ_A(x), μ_A(y)) = μ_A(y)$. Therefore, $μ_A(x+y) = μ_A(y) = T(μ_A(x), μ_A(y))$, for all x and y in F. And, $μ_A(y) = μ_A(x^{-1}xy) ≥ T(μ_A(x^{-1}), μ_A(xy)) ≥ T(μ_A(x), μ_A(xy)) = μ_A(xy) ≥ T(μ_A(x), μ_A(y)) = μ_A(y)$. Therefore, $μ_A(xy) = μ_A(y) = T(μ_A(x), μ_A(y))$, for all x ≠ 0 and y in F. And, $ν_A(y) = ν_A(-x+x+y) ≤ S(ν_A(-x), ν_A(x+y)) ≤ S(ν_A(x), ν_A(x+y)) = ν_A(x+y) ≤ S(ν_A(x), ν_A(y))$, for all x and y in F. And, $ν_A(y) = ν_A(x^{-1}xy) ≤ S(ν_A(x), ν_A(y)) ≤ S(ν_A(x), ν_A(x+y)) = ν_A(xy) ≤ S(ν_A(x), ν_A(y)) = ν_A(y)$. Therefore, $ν_A(xy) = ν_A(y) = S(ν_A(x), ν_A(y))$, for all x ≠ 0 and y in F.

2.11 Theorem: If A and B are any two intuitionistic (T, S)-fuzzy subfields of a field (F, +;), then their intersection $A \cap B$ is an intuitionistic (T, S)-fuzzy subfield of F.

 $\begin{array}{l} \textbf{Proof:} \ \ \text{Let} \ x \ \text{and} \ y \ \text{belong to} \ F, \ A = \left\{\left\langle x, \ \mu_A(x), \ \nu_A(x)\right\rangle \ / \ x \in F\right\} \ \text{and} \ B = \left\{\left\langle x, \ \mu_B(x), \ \nu_B(x)\right\rangle \ / \ x \in F\right\}. \ \text{Let} \ C = A \cap B \ \text{and} \ C = \left\{\left\langle x, \ \mu_C(x), \ \nu_C(x)\right\rangle \ / \ x \in F\right\}, \ \text{where} \ \mu_C(x) = \min \left\{ \left. \mu_A(x), \ \mu_B(x)\right\} \ \text{and} \ \nu_C(x) = \max \left\{ \left. \nu_A(x), \ \nu_B(x)\right\}. \ (i) \ \mu_C(x - y) = \min \left\{ \left. \mu_A(x - y), \ \mu_B(x - y)\right\} \ \geq \min \left\{ T(\ \mu_A(x), \ \mu_A(y)), \ T(\mu_B(x), \ \mu_B(y))\right\} \ \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \min (\mu_A(y), \ \mu_B(y)), \min (\mu_A(y), \ \mu_B(y))) = T(\mu_C(x), \ \mu_C(y)). \ Therefore, \ \mu_C(x - y) \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \min (\mu_A(y), \ \mu_B(y))) = T(\mu_C(x), \ \mu_C(y)). \ Therefore, \ \mu_C(x - y) \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \min (\mu_A(y), \ \mu_B(y))) = T(\mu_C(x), \ \mu_C(y)). \ Therefore, \ \mu_C(x - y) \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \min (\mu_A(y), \ \mu_B(y))) = T(\mu_C(x), \ \mu_C(y)). \ Therefore, \ \mu_C(x - y) \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \min (\mu_A(y), \ \mu_B(y))) = T(\mu_C(x), \ \mu_C(y)). \ Therefore, \ \mu_C(x - y) \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \min (\mu_A(x), \ \mu_B(y))) = T(\mu_C(x), \ \mu_C(y)). \ Therefore, \ \mu_C(x - y) \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \min (\mu_A(x), \ \mu_B(x)), \ \mu_C(x - y) \geq T(\mu_C(x), \ \mu_C(x - y)) = T(\mu_C(x), \ \mu_C(x - y)). \ Therefore, \ \mu_C(x - y) \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \min (\mu_A(x), \ \mu_B(x))) = T(\mu_C(x), \ \mu_C(x - y)). \ Therefore, \ \mu_C(x - y) \geq T(\min (\ \mu_A(x), \ \mu_B(x)), \ T(\mu_B(x), \ \mu_B(x))) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_B(x), \ \mu_B(x)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_B(x), \ \mu_B(x)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_B(x), \ \mu_B(x)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_B(x), \ \mu_B(x)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_B(x), \ \mu_B(x)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_B(x), \ \mu_B(x)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_B(x), \ \mu_C(x - y)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_B(x), \ \mu_C(x - y)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_C(x), \ \mu_C(x - y)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_C(x), \ \mu_C(x - y)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_C(x), \ \mu_C(x - y)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_C(x), \ \mu_C(x - y)) = T(\mu_C(x), \ \mu_C(x - y)). \ T(\mu_C(x), \ \mu_C(x - y)) = T($

 $\mu_C(xy^{-1}) \geq T(\mu_C(x), \ \mu_C(y)), \ \text{for all } x \ \text{and } y \neq 0 \ \text{in } F. \ (\text{iii}) \ \nu_C(x-y) = \max(\nu_A(x-y), \ \nu_B(x-y)) \leq \max(\ S(\nu_A(x), \ \nu_A(y)), \\ S(\ \nu_B(x), \nu_B(y))) \leq S(\max(\nu_A(x), \nu_B(x)), \ \max(\ \nu_A(y), \nu_B(y))) = S(\nu_C(x), \nu_C(y)). \ \text{Therefore, } \nu_C(x-y) \leq S(\nu_C(x), \nu_C(y)), \ \text{for all } x \ \text{and } y \ \text{in } F. \ (\text{iv}) \ \nu_C(xy^{-1}) = \max(\ \nu_A(xy^{-1}), \ \nu_B(xy^{-1})) \leq \max(\ S(\nu_A(x), \nu_A(y)), \ S(\nu_B(x), \nu_B(y))) \leq S(\ \max(\nu_A(x), \nu_B(x)), \ \max(\nu_A(y), \nu_B(y))) = S(\nu_C(x), \nu_C(y)). \ \text{Therefore, } \nu_C(xy^{-1}) \leq S(\nu_C(x), \nu_C(y)), \ \text{for all } x \ \text{and } y \neq 0 \ \text{in } F. \ \text{Hence } A \cap B \ \text{is an intuitionistic } (T, S)\text{-fuzzy subfield of a field } F.$

2.12 Theorem: The intersection of a family of intuitionistic (T, S)-fuzzy subfields of a field $(F, +, \cdot)$ is an intuitionistic (T, S)-fuzzy subfield of F.

Proof: It is trivial.

2.13 Theorem: Let A be an intuitionistic (T, S)-fuzzy subfield of a field (F, +,·). If $\mu_A(x) < \mu_A(y)$ and $\nu_A(x) > \nu_A(y)$, for some x and y in F, then (i) $\mu_A(x+y) = \mu_A(x) = \mu_A(y+x)$, for all x and y in F and $\mu_A(xy) = \mu_A(x) = \mu_A(yx)$, for all x and y $\neq 0$ in F, (ii) $\nu_A(x+y) = \nu_A(x) = \nu_A(y+x)$, for all x and y in F and $\nu_A(xy) = \nu_A(x) = \nu_A(yx)$, for all x and $y \neq 0$ in F.

Proof: Let A be an intuitionistic (T, S)-fuzzy subfield of a field F (i) Also we have $\mu_A(x) < \mu_A(y)$ and $\nu_A(x) > \nu_A(y)$, for some x and y in F, $\mu_A(x+y) \ge T(\mu_A(x), \mu_A(y)) = \mu_A(x)$ and $\mu_A(x) = \mu_A(x+y-y) \ge T(\mu_A(x+y), \mu_A(-y)) \ge T(\mu_A(x+y), \mu_A(y)) = \mu_A(x+y)$. Therefore, $\mu_A(x+y) = \mu_A(x)$, for all x and y in F. Hence $\mu_A(x+y) = \mu_A(x) = \mu_A(y+x)$, for all x and y in F. And, $\mu_A(xy) \ge T(\mu_A(x), \mu_A(y)) = \mu_A(x)$ and $\mu_A(x) = \mu_A(xyy^{-1}) \ge T(\mu_A(xy), \mu_A(y^{-1})) \ge T(\mu_A(xy), \mu_A(y)) = \mu_A(xy)$. Therefore, $\mu_A(xy) = \mu_A(x)$, for all x and $\neq 0$ in F. Hence $\mu_A(xy) = \mu_A(x)$, for all x and $\neq 0$ in F. (ii) Now, $\nu_A(x+y) \le S(\nu_A(x), \nu_A(y)) = \nu_A(x)$ and $\nu_A(x) = \nu_A(x+y-y) \le S(\nu_A(x+y), \nu_A(-y)) \le S(\nu_A(x+y), \nu_A(y)) = \nu_A(x+y)$. Therefore, $\nu_A(x+y) = \nu_A(x)$, for all x and y in F. Hence $\nu_A(x+y) = \nu_A(x) = \nu_A(y+x)$, for all x and y in F. Now, $\nu_A(xy) \le S(\nu_A(x), \nu_A(y)) = \nu_A(x)$ and $\nu_A(x) = \nu_A(xyy^{-1}) \le S(\nu_A(xy), \nu_A(y^{-1})) \le S(\nu_A(xy), \nu_A(y)) = \nu_A(xy)$. Therefore, $\nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(xy)$, for all x and $\nu_A(x) = \nu_A(xy)$. Therefore, $\nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy)$. Therefore, $\nu_A(xy) = \nu_A(x)$, for all x and $\nu_A(x) = \nu_A(xy)$.

2.14 Theorem: Let A be an intuitionistic (T, S)-fuzzy subfield of a field (F, +, ·). If $\mu_A(x) < \mu_A(y)$ and $\nu_A(x) < \nu_A(y)$, for some x and y in F, then (i) $\mu_A(x+y) = \mu_A(x) = \mu_A(y+x)$, for all x and y in F and $\mu_A(xy) = \mu_A(x) = \mu_A(yx)$, for all x and y in F and $\nu_A(xy) = \nu_A(y) = \nu_A(y) = \nu_A(y)$, for all x and y in F.

Proof: It is trivial.

2.15 Theorem: Let A be an intuitionistic (T, S)-fuzzy subfield of a field (F, +,·). If $\mu_A(x) > \mu_A(y)$ and $\nu_A(x) > \nu_A(y)$, for some x and y in F, then (i) $\mu_A(x+y) = \mu_A(y) = \mu_A(y+x)$, for all x and y in F and $\mu_A(xy) = \mu_A(y) = \mu_A(y)$, for all x and y in F, (ii) $\nu_A(x+y) = \nu_A(x) = \nu_A(y+x)$, for all x and y in F and $\nu_A(xy) = \nu_A(x) = \nu_A(y)$, for all x and y in F.

Proof: It is trivial.

2.16 Theorem: Let A be an intuitionistic (T, S)-fuzzy subfield of a field (F, +, ·). If $\mu_A(x) > \mu_A(y)$ and $\nu_A(x) < \nu_A(y)$, for some x and y in F, then (i) $\mu_A(x+y) = \mu_A(y) = \mu_A(y+x)$, for all x and y in F and $\mu_A(xy) = \mu_A(y) = \mu_A(yx)$, for all x and y $\neq 0$ in F (ii) $\nu_A(x+y) = \nu_A(y) = \nu_A(y+x)$, for all x and y in F and $\nu_A(xy) = \nu_A(y) = \nu_A(yx)$, for all x and y $\neq 0$ in F.

Proof: It is trivial.

REFERENCE

- 1. Akram. M and Dar.K.H, On fuzzy d-algebras, Punjab University Journal of Mathematics, 37, 61-76, (2005).
- 2. Anthony.J.M. and Sherwood.H, Fuzzy groups Redefined, Journal of mathematical analysis and applications, 69,124-130 (1979).
- 3. Asok Kumer Ray, On product of fuzzy subgroups, Fuzzy sets and sysrems, 105, 181-183 (1999).
- 4. Atanassov.K.T., Intuitionistic fuzzy sets, Fuzzy sets and systems, 20(1), 87-96 (1986).
- 5. Atanassov.K.T., Intuitionistic fuzzy sets theory and applications, Physica-Verlag, A Springer-Verlag company, April 1999, Bulgaria.
- 6. Azriel Rosenfeld, Fuzzy Groups, Journal of mathematical analysis and applications, 35, 512-517 (1971).
- 7. Banerjee.B and D.K.Basnet,Intuitionistic fuzzy subrings and ideals, J.Fuzzy Math.11, no.1, 139-155 (2003).
- 8. Biswas.R, Fuzzy subgroups and Anti-fuzzy subgroups, Fuzzy sets and systems, 35,121-124 (1990).
- 9. Biswas.R, Fuzzy fields and fuzzy linear spaces redefined, Fuzzy sets and systems, (1989) North Holland.
- 10. Chakrabarty, K., Biswas, R., Nanda, A note on union and intersection of Intuitionistic fuzzy sets, Notes on Intuitionistic Fuzzy Sets, 3(4), (1997).
- 11. Davvaz.B, Wieslaw.A and Dudek, Fuzzy n-ary groups as a generalization of Rosen feld Fuzzy groups, ARXIV-0710. 3884VI (Math.Ra), 1-16, (20 Oct. 2007).
- 12. De, K., Biswas, R, Roy, A.R, On intuitionistic fuzzy sets, Notes on Intuitionistic Fuzzy Sets, 3(4), (1997).

B. Anandh*¹, R. Giri² / Intuitionistic Fuzzy Subfields of a Field with Respect to (T, S)-Norm / IJMA- 7(10), Oct.-2016.

- 13. Hur.K, Kang.H.W and H.K.Song, Intuitionistic fuzzy subgroups and subrings, Honam Math. J. 25 no.1, 19-41 (2003).
- 14. Hur.K, S.Y Jang and H.W Kang, 2005. (T, S)-intuitionistic fuzzy ideals of a ring, J.Korea Soc. Math. Educ. Ser. B: pure Appl.Math.12(3): 193-209.
- 15. Mustafa Akgul, Some properties of fuzzy groups, Journal of mathematical analysis and applications, 133, 93-100 (1988).
- 16. Mohamed Asaad, Groups and fuzzy subgroups, fuzzy sets and systems (1991), North-Holland.
- 17. Nanda. S, Fuzzy fields and fuzzy linear spaces, Fuzzy sets and systems, 19 (1986), 89-94.
- 18. Palaniappan. N & K.Arjunan, Some properties of intuitionistic fuzzy subgroups, Acta Ciencia Indica, Vol. XXXIII (2): 321-328 (2007).
- 19. Rajesh Kumar, Fuzzy Algebra, Volume 1, University of Delhi Publication Division, July -1993.
- 20. Rosenfeld. A, Fuzzy groups, J. Math. Anal. Appl., 35 (1971), 512-517.
- 21. Salah Abou-Zaid, On generalized characteristic fuzzy subgroups of a finite group, fuzzy sets and systems, 235-241 (1991).
- 22. Vasantha kandasamy .W.B, Smarandache fuzzy algebra, American research press, Rehoboth -2003.
- 23. Vasu.M, D.Sivakumar & Arjunan. K, A study on anti L-fuzzy subfield of a field, Indian journal of Research, Vol. 1, Issue 1, 78-80 (2012).
- 24. ZADEH.L.A, Fuzzy sets, Information and control, Vol.8, 338-353 (1965).

Source of support: Nil, Conflict of interest: None Declared

[Copy right © 2016. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]